dRoceo— Ersafzteiliste & 33212
Replacement Parts 1099 *33213 *33214.2

a . 3 P
85 Text At [ 8
1| Stromabnehmer 85307 |29
Pantograph
2 | Zylinderkoptschraube M2 x 4 85670 2
Cheese headed screw M 2 x 4
3| Zylinderkopfschraube M 2 x 10 85675 | 2
Cheese headed screw M 2 x 10
4 | Zylinderkoplschraube M 2 x 16 B5678 2
Cheese headed screw M 2 x 16
5| Feder B6203 2
Spring
& | Platine kpl. B7706 | 38
Printed circuit assembly
7 | Umschaltkontakt 89709 2
Switch contact
1099 007-5 - 8 | Lokfuhrer 89726 5
r Driver
9 | Umschaltbolzen 89731 2
Switch pin
10 | Glihlampe 93521 |10
Light bulby
11 | Gewicht 93710 |25
Weight
12 | Isolator 3 101584 2
insulator 3
13 | Gehause kpl. for 33212 101633 | 64
Betr. Nr. 1099.007-5
Body assembly for 33212
Betr. No. 1099.007-5
14 | Fenstersatz 101634 |12
Window set
15 | Inneneinrichtung 101635 4
Interior
16 | Sirene fir 33212 101636 2
Airhorn for 33212
17 | Kabel fir 33212, 33214.2 101637 3
Cabie for 33212, 33214.2
18 | Lichtnagel grof3 101643 2
Lens big
*19 | Gehause komplett fir 33213 105435 | 64
Betr. Nr. 1099.15
Body assembly for 33213
Betr. No. 1099.15
*20 | Gehause komplett fir 33214.2 105436 | 64
Betr. Nr. 1099.003-4
Body assembly for 33214.2
Betr. No. 1099.003-4
21 | Sirene fir 33213, 33214.2 101667 2
Airhomn for 33212, 33214.2
22 | Isolator 4 101668 2
Insulator 4
*23 | Kabel fur 33213 101679 3
Cable for 33213
R
ﬂnﬁamngen vorbehalten # Landesspazifsche Sondersarie, Tede nur Gber ta jewailige Landasverralung amaitich Ausgabe 96/02 Blatt 580/1

3 * Spare-parts fov special-nm-modeis, only avaiabie by e nabons Mmporter's senice. 4%
Best. Nr. 841189 We reserve the right to make changes * Pidces pour les diions dirangdres, disponiles uniquement au S.A V. du pays concemi Edition 96/02 Page 580/1



